CesStina: 7. lekce
Czech language: 7" lesson
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Communicative Competency: Where is it? How can | get there? Orientation in the City.
Grammar: Adverbs of place.
The verb to go.

Locative case of nouns in singular (introduction)



KDE? = where (question about location) .

to be used with verbs like byt, bydlet, studovat (static verbs)

levo | nalevo «—  vpravo | napravo—
= nahore 1 dole |

prostred

= tady = here x tam = there

= blizko = close x daleko = far

= at home (no preposition, it is adverb)



Verb ,,j t“'(to g0)

. :

(=2 (j)
(you) (ty)
(he, she, it)  (on, ona, to)
(we) 7
(you) (vy)
(oni)

(they)

jdu

jdes
JLE

jdeme
jdete
jdou

—

e ———

jdu
jdes
jde

jdeme
jdete
jdou




Verb ,,j -t (to go)

(2
(you)
(he, she, it)

(we) -
(you)
(they)

x
(jé) |

(ty)

(on, ona, to)

)%,
(vy)

(oni)

—

- . jedu

jedes

JECE

jedeme
jedete

Jedou

e
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jedu
jedes

jede

jedeme
jedete

jedou




KAM? = where to(question about destination) -
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to be used with verbs of motion = and
VER prava —

= nahorut dolu |
prostred

= rovneé (straight)

= sem = here x tam = there

= home (no preposition, it is adverb)



JIT x JET

. Jdu pésky = | walk

. Jedu

— Jedu aut

. — Jedu autobusc i < autobus

— jedu vlakem < vlak (train)

— Jedu letadlem < letadlo (airplane)

— Jedu tramvaj < tramvaj |
— Jjedu salinou < salin= (tram in Brno)
— Jjedu metr

— jedu taxik



KDE? = where (question about location) .
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masculines KDE? feminines neutres

penzion Vv penzionu Ceska republika v Ceskeé Brno v Brné
hotel v hotelu republice

bar v baru hospoda kino v kine
supermarket vsupermarketu  Praha v hospodé divadlo v divadle
kampus v kampusu skola v Praze

ve Skole Tesco v Tescu
restaurace centrum v centru
prace Vv restauraci
kancelar V praci nadrazi na nadrazi
v kancelari Komenskéeho na Komenskeého
namesti namesti




Homework

Review today's lesson.



